CHM151 Quiz 6525 Pts Fall 2011 Name: Re/g_

****Show all work to receive credit****

1. (6 Pts) The heats of formation, AHfO in are shown in the table. What is AH in kJ for the reaction:

2C,H, + 50,(g) — 4C0y(g) + 2H,0() AH=?
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2. (5 Pts) Given the MnO, catalyzed reaction: 2KClO3(s) — 2KCl(s) +30,(g) AH=-89.7KJ

Calculate AH for the decomposition of 45 grams of KCIO; (molar masses: K 39.01, Ci 35.45, O 16.00)
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3. (8 Pts) What is the standard enthalpy of combustion of C,Hg in kJ-mol-1?

2CHg + 70, - 4C0O, + 6H,0

@ Ha(g) + 1/205(9) = H,00) AHO= —286 kI

@ CaHa(g) + Hate) — CoHelg) AHO= —137 kI

@’) CyoHafg) + 305(0) — 2COy(q) + 2H,00)  AHO=—1412 kI
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4. (6 Pts) Given these equations (1)  SO,(g) — Ox(g) + S(s) AH = +300 kJ
(D 25046+ Oafe) = 250510 AH =200 k!
calculate AH for: 25(s) + 30,(g) > 2S0s(g)
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